

Booklet (3) Exams

Algebra and Solid Geometry

Third Sec

منتري توجيه الرياضيات
أ. عادل إيوار

(3) The length of the perpendicular drawn from point $(1, -3, 4)$ to the x - axis equalslength unit.

- (a) 1 (b) 3 (c) 4 (d) 5

.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....

(4) The measure of the acute angle between the two vectors $(0, -b, b)$, $(b, -b, 0)$ equals° where b is a constant $\neq 0$

- (a)30 (b) 45 (c)60 (d) 90

.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....

Model answer

$$\underline{\underline{1}} \quad \frac{{}^n C_r}{{}^n P_r} = \frac{1}{6} \quad \underline{\underline{b}}$$

$$\begin{aligned} 6 {}^n C_r &= {}^n P_r \\ 6 \left[\frac{{}^n P_r}{r} \right] &= {}^n P_r \\ r &= 6 \rightarrow \boxed{r=3} \\ \therefore \underline{r-3} &= \underline{3-3} = \underline{0} \\ &= \underline{\underline{1}} \end{aligned}$$

$$\underline{\underline{2}} \quad (2-x)^5 (2+x)^5 \quad \underline{\underline{d}}$$

$$\begin{aligned} &= [(2-x)(2+x)]^5 \\ &= [4-x^2]^5 \\ \text{last term} &= \frac{1}{16} \\ &= {}^5 C_5 (-x^2)^5 (4)^0 \\ &= \boxed{-x^{10}} \end{aligned}$$

$$\underline{\underline{3}} \quad \text{The length of the } \perp \quad \underline{\underline{d}}$$

$$\begin{aligned} &= \sqrt{y^2 + z^2} \\ &= \sqrt{(-3)^2 + (4)^2} \\ &= \boxed{5} \end{aligned}$$

$$\begin{aligned} \underline{\underline{4}} \quad \cos \theta &= \frac{\vec{A} \cdot \vec{B}}{\|\vec{A}\| \|\vec{B}\|} \quad \underline{\underline{c}} \\ &= \frac{(0, -b, b) \cdot (b, -b, 0)}{\sqrt{b^2 + b^2} \sqrt{b^2 + b^2}} \\ &= \frac{0 + b^2 + 0}{\sqrt{2b^2} \sqrt{2b^2}} \\ &= \frac{b^2}{2b^2} \\ &= \frac{1}{2} \\ \theta &= \boxed{60} \end{aligned}$$

$$\begin{aligned} \underline{\underline{5}} \quad a) \quad (x^2 + \frac{1}{x})^{12} \\ T_{r+1} &= {}^{12} C_r \left(\frac{1}{x}\right)^r (x^2)^{12-r} \\ &= {}^{12} C_r (x)^{-r} (x)^{24-2r} \\ &= {}^{12} C_r (x)^{24-3r} \\ 24-3r &= 0 \Rightarrow \boxed{r=8} \end{aligned}$$

$$\begin{aligned} \therefore T_9 &= {}^{12} C_8 (x)^0 = {}^{12} C_8 \\ T_8 &= {}^{12} C_7 \left(\frac{1}{x}\right)^7 (x^2)^5 \\ \text{Coeff. of } T_8 &= {}^{12} C_7 \end{aligned}$$

$$\begin{aligned} \therefore \frac{\text{Term free of } x}{\text{Coef. of } T_8} &= \frac{12C_8}{12C_7} \\ &= \frac{12-8+1}{8} \\ &= \left(\frac{5}{8}\right) \end{aligned}$$

b) order = $\frac{12+2}{2} = 7$

$$T_7 = 12C_6 \left(\frac{1}{x}\right)^6 (x^2)^6$$

$$\text{Coef. of } T_7 = 12C_6$$

$$T_{10} = 12C_9 \left(\frac{1}{x}\right)^9 (x^2)^3$$

$$\text{Coef. of } T_{10} = 12C_9$$

$$\begin{aligned} \frac{\text{Coef. of } T_7}{\text{Coef. of } T_{10}} &= \frac{12C_6}{12C_9} \\ &= \frac{21}{5} \\ &= \boxed{21 : 5} \end{aligned}$$

$$\begin{aligned} \theta &= -\pi + \tan^{-1}\left(\frac{y}{x}\right) \\ &= -180^\circ + 45^\circ \\ &= -135^\circ \\ &= \boxed{\frac{-3\pi}{4}} \end{aligned}$$

$$\begin{aligned} &= \left(\frac{1}{1+wi} - \frac{w+i}{1+w^2i}\right)^8 \\ &= \left[\frac{1+w^2i - (1+wi)(w+i)}{(1+wi)(1+w^2i)}\right]^8 \\ &= \left[\frac{1+w^2i - (w+w^2i+i+wi^2)}{1+wi+w^2i+w^3i^2}\right]^8 \\ &= \left[\frac{1+w^2i - w - w^3i - i + w}{1+i(w+w^2)+i}\right]^8 \\ &= \left[\frac{1-i}{-i}\right]^8 \\ &= \left[-\frac{i^4}{i} + 1\right]^8 \\ &= \left[-i^3 + 1\right]^8 \\ &= \left[(i+1)^2\right]^4 \\ &= \left[-x+2i+x\right]^4 \\ &= (2i)^4 = \boxed{16} \end{aligned}$$

$$\begin{aligned} &= \begin{vmatrix} 3x & 2x & x \\ x & 2x & 3x \\ x & -x & 0 \end{vmatrix} = 96 \\ x^3 & \begin{vmatrix} 3 & 2 & 1 \\ 1 & 2 & 3 \\ 1 & -1 & 0 \end{vmatrix} = 96 \\ & \downarrow \end{aligned}$$

$$(a+2, b+1, c-2) \downarrow \\ = (c+2b, -2c-2a, 2b-a)$$

$$\therefore a+2 = c+2b$$

$$\boxed{a - c - 2b = -2} \rightarrow \textcircled{1}$$

$$b+1 = -2c-2a$$

$$\boxed{b + 2c + 2a = -1} \rightarrow \textcircled{2}$$

$$c-2 = 2b-a$$

$$\boxed{c - 2b + a = 2} \rightarrow \textcircled{3}$$

from $\textcircled{1}, \textcircled{2}, \textcircled{3}$

$$\boxed{a = -2}, \boxed{b = -1}, \boxed{c = 2}$$

$$\boxed{\vec{B} = (-2, -1, 2)}$$

$$\underline{\underline{13}} \quad L = (-3), K = (2), M = -1$$

$$r = \sqrt{9 + 4 + 1 - (-11)} \\ = 5$$

$$\text{diameter} = \frac{5 \times 2}{\sqrt{10 \text{ unit} + 10}}$$

$$\underline{\underline{14}} \quad A = \begin{pmatrix} 2 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & -1 & 1 \end{pmatrix}$$

$$\Delta = \begin{vmatrix} 2 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & -1 & 1 \end{vmatrix} \\ = 2(1) - (1) = 1 \neq 0$$

\therefore has one sol.

$$C = \left(\begin{array}{ccc|ccc} 1 & -1 & 1 & -1 & 0 & 1 \\ -1 & 0 & 1 & 2 & 1 & -1 \\ 1 & 0 & 1 & -2 & 1 & 2 \end{array} \right)$$

$$= \begin{pmatrix} 1 & -1 & -1 \\ -1 & 2 & 2 \\ -1 & 1 & 2 \end{pmatrix}$$

$$\text{adj}(A) = \begin{pmatrix} 1 & -1 & -1 \\ -1 & 2 & 1 \\ -1 & 2 & 2 \end{pmatrix}$$

$$A^{-1} = \frac{1}{1} \begin{pmatrix} 1 & -1 & -1 \\ -1 & 2 & 1 \\ -1 & 2 & 2 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 1 & -1 & -1 \\ -1 & 2 & 1 \\ -1 & 2 & 2 \end{pmatrix} \begin{pmatrix} 5 \\ 3 \\ 1 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 5 - 3 - 1 \\ -5 + 6 + 1 \\ -5 + 6 + 2 \end{pmatrix}$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 1 \\ 2 \\ 3 \end{pmatrix}$$

$$s.s = \{ (1, 2, 3) \}$$

15) $\underline{\underline{d}}$

$$d_1 = (3, -3, 6)$$

$$d_2 = (2, -2, k)$$

$$\underline{d}_1 \parallel \underline{d}_2$$

$$\frac{3}{2} = \frac{6}{k} \Rightarrow \boxed{k=4}$$

18) $(x, y, z) \odot (2, -2, 1) = 5$

$$\boxed{2x - 2y + z = 5}$$

$$h = \frac{|2(1) - 2(-6) + 3 - 5|}{\sqrt{4 + 4 + 1}}$$

$$= \boxed{4}$$

16) $\underline{\underline{d}}$

$$\underline{d} = (3, 1, -3)$$

$$\underline{n} = (1, k, 2)$$

$$\underline{d} \odot \underline{n} = 0$$

$$(3, 1, -3) \odot (1, k, 2) = 0$$

$$3 + k - 6 = 0$$

$$\boxed{k=3}$$

19) $\underline{\underline{C}}$

$$\boxed{x = y = z = t} \rightarrow \text{C}$$

$$(x, y, z) \odot (1, 2, 3) = 12$$

$$\boxed{x + 2y + 3z = 12} \rightarrow \text{D}$$

from C in D

$$t + 2t + 3t = 12$$

$$\boxed{t=2}$$

17) $\underline{\underline{z}}$

$$z_1 = 2(\cos 60^\circ + i \sin 60^\circ)$$

$$z_2 = \sqrt{2}(\cos 45^\circ + i \sin 45^\circ)$$

$$\frac{z_1}{z_2} = \sqrt{2}(\cos 15^\circ + i \sin 15^\circ)$$

$$\left(\frac{z_1}{z_2}\right)^6 = 8(\cos 90^\circ + i \sin 90^\circ)$$

$$= \boxed{8 e^{i\left(\frac{\pi}{2}\right)}}$$

$$\therefore x = y = z = 2$$

$$\therefore \text{Point of intersection} = \boxed{(2, 2, 2)}$$

Good Luck

Mr / George Adel
01225923424